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datal (&%) EEIUGI) ERILEROSkmEK#H 0.2 R & 00
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e 3366 | = 0 58 BRES| 3366 |BILOHEEE
B4 74 | SR = 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERIER200m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.070] A 40,000 2,800/ 40,000 2,800 0.000 0
* 17[ B = e R ERAEHE 0.220] A 30,700 6,754 30,700 6,754 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.440[ A 29,600 13,024] 29,600 13,024 0.240 7,104
* 19[;BI =B & R ERAEHE 0.220[ A 24,200 5,324 24,200 5,324 0.220 5,324
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 27,902 1,395 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 27,902 419 0 0 0.000 0
B 29,716 27,902 0.580] 16,112
B 1 1.0 XHY 29,716
EEANE 27,902
ZTRMBEE 1,814
datal (&%) EEIUGI) ERILEROSkmEK#H 0.2 R & 00
6
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e 3368 | = 0 58 BRES| 3368 |BLOHEEE
BHEifa % [(EEYEREEMnm 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.340[ A 40,000 13,600| 40,000 13,600 0.280] 11,200
* 17[ B = e R ERAEHE 0.510] A 30,700 15,657| 30,700 15,657 0.280 8,596
* 18[BI=B1F RIFZMTEHEEEREE 0510 A 29,600 15,096] 29,600 15,096 0.280 8,288
* 19[;BI =B & R ERAEHE 0.830] A 24,200 20,086/ 24,200 20,086 0.830] 20,086
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 64,439 3,222 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 64,439 967 0 0 0.000 0
B 68,628 64,439 1.670| 48,170
B fiff 1.0 XHY 68,628
EEANE 64,439
ZTRMBEE 4,189
datal (&%) EEIU(3) HEETIERSOmLLE H#R
6
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e 3369 | = 0 58 BRES| 3369 |BILOHEEE
E {2 %5 | w4 RKA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R ERAEHE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBEE 183
date| (&) BEEIUR3) EFRERO0SkmEH -0.2 HE5iEMREIOm -0.2
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e 3371 | = 0 58 EHREE| 33711 |ELGHEEER
HifaH (HEER 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.090] A 40,000 3,600/ 40,000 3,600 0.090 3,600
* 17[ B = e R ERAEHE 0.090] A 30,700 2,763] 30,700 2,763 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.180| A 24,200 4356 24,200 4,356 0.180 4,356
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 10,719 536 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 10,719 161 0 0 0.000 0
B 11,416 10,719 0.360] 10,719
B fiff 1.0 KBy 11,416
EEANE 10,719
ZTRMBEE 697
datal (&%) FEAIL257) ZFEREROSkmKFH 0.2 Hij & 0.0
6
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# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.270] A 40,000 10,800 40,000 10,800 0.180 7,200
* 17[ B = e R ERAEHE 0.310] A 30,700 9,517 30,700 9,517 0.210 6,447
* 18[BI=B1F RIFZMTEHEEEREE 0.430[ A 29,600 12,728] 29,600 12,728 0.430] 12,728
* 19[;BI =B & R ERAEHE 0.430[ A 24,200 10,406| 24,200 10,406 0.430 10,406
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 43,451 2,173 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 43,451 652 0 0 0.000 0
B 46,276 43,451 1.250| 36,781
B 1 1.0 XHY 46,276
EEANE 43,451
ZTRMBEE 2,825
datal (&%) FEAIL257) ZFEREROSkmKFH 0.2 Hij & 0.0
6
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B4 74 | SR = 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R ERAEHE 0.170] A 30,700 5,219] 30,700 5,219 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.330] A 29,600 9,768 29,600 9,768 0.180 5,328
* 19[;BI =B & R ERAEHE 0.160[ A 24,200 3,872 24,200 3,872 0.160 3,872
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 20,859 1,043 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 20,859 313 0 0 0.000 0
B 22,215 20,859 0.430] 11,963
B 1 1.0 XHY 22,215
EEANE 20,859
ZTRMBEE 1,356
datal (&%) FEAIL257) ZFEREROSkmKFH 0.2 Hij & 0.0
6
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BHEifa % [(EEYEREEMnm 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.340[ A 40,000 13,600| 40,000 13,600 0.280] 11,200
* 17[ B = e R EHEEEREE 0.510] A 30,700 15,657| 30,700 15,657 0.280 8,596
* 18[BI=B1F RIFZMTEHEEEREE 0510 A 29,600 15,096] 29,600 15,096 0.280 8,288
* 19[;BI =B & R EEEREE 0.830] A 24,200 20,086/ 24,200 20,086 0.830] 20,086
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 64,439 3,222 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 64,439 967 0 0 0.000 0
B 68,628 64,439 1.670| 48,170
B fiff 1.0 XHY 68,628
EEANE 64,439
ZTRMBEE 4,189
datal (&%) FEAIL257) fEETERSOmLLE 0.1 % 00
6
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* 16[B=HEh R ERAERHEE 0.120] A 40,000 4,800/ 40,000 4,800 0.000 0
* 178 S B Afitd R ERAEHE 0.240[ A 30,700 7,368 30,700 7,368 0.000 0
* 18RI EBNF R ERAERHEE 0.000[ A 29,600 0| 29,600 0 0.000 0
* 19|BIEEB & R ERAEHE 0.000] A 24,200 ol 24200 0 0.000 0
501 (M HE R E X |MgLBEIcdd 388 1.500] % 12,168 183 0 0 0.000 0
g 12,351 12,168 0.000 0
B {f 1.0 KLY 12,351
EEAGE 12,168
ZTDMhIEE 183
date| (fZ) FBAILQ57) EHRIER0SkmEH -0.2 ZE=ERIRE10m —0.2
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# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.090] A 40,000 3,600/ 40,000 3,600 0.090 3,600
* 17[ B = e R ERAEHE 0.090] A 30,700 2,763] 30,700 2,763 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.180| A 24,200 4356 24,200 4,356 0.180 4,356
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 10,719 536 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 10,719 161 0 0 0.000 0
B 11,416 10,719 0.360] 10,719
B fiff 1.0 KBy 11,416
EEANE 10,719
ZTRMBEE 697
datal (&%) EEIUG2) ERIER 05kmRKiE 02 #iE & 00
6
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# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.270] A 40,000 10,800 40,000 10,800 0.180 7,200
* 17[ B = e R ERAEHE 0.310] A 30,700 9,517 30,700 9,517 0.210 6,447
* 18[BI=B1F RIFZMTEHEEEREE 0.430[ A 29,600 12,728] 29,600 12,728 0.430] 12,728
* 19[;BI =B & R ERAEHE 0.430[ A 24,200 10,406| 24,200 10,406 0.430 10,406
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 43,451 2,173 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 43,451 652 0 0 0.000 0
B 46,276 43,451 1.250| 36,781
B 1 1.0 XHY 46,276
EEANE 43,451
ZTRMBEE 2,825
datal (&%) EEIUG2) ERIER 05kmRKiE 02 #iE & 00
6
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# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R ERAEHE 0.170] A 30,700 5,219] 30,700 5,219 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.330] A 29,600 9,768 29,600 9,768 0.180 5,328
* 19[;BI =B & R ERAEHE 0.160[ A 24,200 3,872 24,200 3,872 0.160 3,872
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 20,859 1,043 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 20,859 313 0 0 0.000 0
B 22,215 20,859 0.430] 11,963
B 1 1.0 XHY 22,215
EEANE 20,859
ZTRMBEE 1,356

data| (&) EEILE2) RRER 05kmEKiim 0.2 #7 & 00
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* 16[B=HEh R ERAERHEE 0.300] A 40,000 12,000/ 40,000 12,000 0.250 10,000
* 178 S B Afitd R ERAEHE 0.460[ A 30,700 14,122| 30,700 14,122 0.250 7,675
* 18RI EBNF R ERAERHEE 0.460] A 29,600 13,616/ 29,600 13,616 0.250 7,400
* 19|BIEEB & R ERAEHE 0.750] A 24,200 18,150/ 24,200 18,150 0.750 18,150
501 (M HE R E X |MgLBEIcdd 388 5.000] % 57,888 2,894 0 0 0.000 0
502 | MR8 G B2 Mg LB 2584 1.500] % 57,888 868 0 0 0.000 0
g 61,650 57,888 1.500| 43,225
B fiff 1.0 Ky 61,650
EEAGE 57,888
ZTDMhIEE 3,762
data| (%) EEIL(32) HEETER3OMLLES0mEE 0.0 #i7 & 00
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R ERAEHE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBEE 183
data| (&%) EEILR2) EFRIERE 05kmkiEm 0.2 Z=iEREMRIom -0.2
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R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.180[ A 40,000 7,200/ 40,000 7,200 0.180 7,200
* 17[ B = e R ERAEHE 0.180] A 30,700 5,526] 30,700 5,526 0.180 5,526
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.360[ A 24,200 8,712| 24,200 8,712 0.360 8,712
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 21,438 1,072 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 21,438 322 0 0 0.000 0
B 22,832 21,438 0.720] 21,438
B fiff 1.0 KBy 22,832
EEANE 21,438
ZTRMBEE 1,394

data (&) —/&1U(77) WWEEMEFE 0.5haki® 04 FRIEERTER 1~2EfT —0.2 iR & 00
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R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.180[ A 40,000 7,200| 40,000 7,200 0.000 0
* 17[ B = e R ERAEHE 0.720] A 30,700 22,104| 30,700 22,104 0.450| 13,815
* 18[BI=B1F RIFZMTEHEEEREE 0.720] A 29,600 21,312 29,600 21,312 0.450| 13,320
* 19[;BI =B & R ERAEHE 1.350] A 24,200 32,670/ 24,200 32,670 1.350| 32,670
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 83,286 4,164 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 83,286 1,249 0 0 0.000 0
B 88,699 83,286 2.250] 59,805
B 1 1.0 XHY 88,699
EEANE 83,286
ZTRMBEE 5,413
data| (f8&) —/A1U(T7) LUFEERE 05hakis 0.4 ERIEERTH 1~28fr —02 R & 00
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.040[ A 40,000 1,600] 40,000 1,600 0.000 0
* 17[ B = e R EHEEEREE 0.280] A 30,700 8,596/ 30,700 8,596 0.200 6,140
* 18[;A|ZBhF RIFZMTEHEEEREE 0500 A 29,600 14,800| 29,600 14,800 0.400[ 11,840
* 19[;BI =B & R EEEREE 0.440[ A 24,200 10,648| 24,200 10,648 0.440 10,648
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 35,644 1,782 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 35,644 535 0 0 0.000 0
B 37,961 35,644 1.040[ 28,628
B fiff 1.0 XHY 37,961
EEANE 35,644
ZTRMBEE 2,317
data| (%) —/&WLTT7) #)7 &
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* 168 E FEh RIFMTEHEEEREE 0.320 A 40,000 12,800 40,000 12,800 0.000 0
* 17[ B = e R EHEEEREE 0.640| A 30,700 19,648 30,700 19,648 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500] % 32,448 487 0 0 0.000 0
B 32,935 32,448 0.000 0
B 1 1.0 XHY 32,935
EEANE 32,448
ZTRMBEE 487
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